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. QL (a) Simplify each of the following:
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If (a® + b%) = 7ab, then prove that log(a +b) = log3 + L loga + 5 log b.
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(b)

ii. fp=g¢® g=1r%andr= p%* then, prove that abe — %.

iil. If 2a — 3b = 2 and ab = 6 then, find 8a® — 2755.
(c) Solve the following equations:
i, :c2+121a:+6=0;
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i, 4579 =

iii. log, 8 +2log, 16 — 3log, z = 6.
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Q2. (a) Find the value of the following limit of the functions:
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(b) i Differentiate the function y = /= with respect to .
[ P s
ii. Find the stationary points and the maximum and minimum value of the

function y = 2% — 22 + z + 1.

(c) Integrate the following functions with respect to z:
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ii. Evaluate / zln(z + 3) dx.

0



